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|ntroduction to YN IRVTI— Y'av g

Our j779 completes and concludes the description of 9w a7 and which mis-procedures invalidate the 1377

28.7.1

66a ('K W) 2 66b (NP3 RITVIXDI 77502 NOID) N?T)

Note: these two nrawnrefer to nxvn nwypand 751w awyn as being distinct procedures. The 801 inquires whether the focus is on 7250 or
nyn. The 7jp72op of an 75w involves 71572771 — fully separating the head from the body; nnvn 77250 doesn’t allow for separation (except ac-
cording to w”an7, whom we ve already rejected as an author here). »13p of an 751y involves just that — »1¥p (squeezing o7against wall of
narp) and no ANrg g nxvninvolves ax (followed by 7y if there is o7left).

I ’» mwn: consequences of mis-performances with 91yn nxron
a 9w nxvr: done below (properly) according to nkon-procedure and nxvn ow? — valid
i However: if done w/ nRON-process N9y WY, or w/ N7p-process NRON DWY — or w/NYIY process N7 WY - NN
ii  Inany case: if done above — n108
1 Question: what was done differently (“n%w-process”)?
(a) If: he did np>n wrong (i.e. was 9771an) — that means that our nywn does not accord with v”ars
(i) Background: he had a tradition that we (may) perform n%7an on 9)n nxron
(b) Response: indeed, we’ve already established (previous chapter) that our n”wn do not follow w”ary
(c) Nonetheless: our niwn could be agreeable to him as well —
(d) Answer: he did »xn (instead of nrr)
(i) Support (that all “changes” in 7ywp are about »¥p/Axr7): from RO —
1. If: he performed it all properly but above — invalid;
a. Cannot mean: that he did npyn in the wrong place — it is valid anywhere (as per above)
b.  Must be: he did nrrn in the wrong place (above) = our “change” is re: Nkt
2. Rejection: each section of the niwn is directed to its own area of nmay
II  ’a mwn: consequences of mis-performances with qyn n»y
a  9wn nbw: done above (properly) according to n»w-procedure and n»y ow% — valid
i However: if done n%y nwyns but nron nwY — valid, but doesn’t count for o'9ya for their obligation
ii ~ Furthermore: if done nroN nWYNI even Ny DWY — and certainly if done NRYN NYYNI and NRoN DYY — NNV
iii In any case: if done below — n%vs
1 Question: what was done differently (“nxon-process”)?
(a) If: he did np>n wrong (i.e. didn’t separate head from body)
(b) Then: our mwn doesn’t accord with Y1’ "3 (see T-3 MWN)
(i) Background:’» mwn rules that in all these cases (listed in 1-R) there is no ny*yan n’a nrmo (i.e. not
considered a gy n%a1) and n%yn does attach — except for a nkon done properly
1. yet: in "1 mwn, " holds (contra ®™) that an N done like a nkvn, nkon oYY and below — no n»’yn
(c) Therefore: the “change” must be »¥n (he did nxrn instead of nxn)
(i) Challenge: "7 mwn, where " claims that if done nxon nwyna — no nY’yn; must be npvn (i.e. N>7an)
(if) Must be: np'ona MY, because if he does nx¥n wrong (i.e. nRtn instead) no nyn
(iii) Therefore: our MW must be np>on
iv  Conclusion: Rw» (our mwn) and R0 (7 MWN) are referring to Np>yon and “middle mwn” (1) is referring to »x¥n
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